
W3203	
  
Discrete	
  Mathema1cs	
  

	
  
Recurrence	
  Rela1ons	
  

Spring	
  2015	
  
Instructor:	
  Ilia	
  Vovsha	
  
	
  
h@p://www.cs.columbia.edu/~vovsha/w3203	
  

	
  

1	
  



Outline	
  
§  Recurrence	
  Systems	
  (Rela1ons)	
  
§  Recurrence	
  Types	
  
§  Solving	
  Homogeneous	
  Linear	
  RRs	
  
§  Degree	
  1,2,3	
  RRs	
  
§  Nonhomogeneous	
  Linear	
  RRs	
  
§  Divide	
  &	
  Conquer	
  RRs	
  
§  Genera1ng	
  Func1ons	
  (summary)	
  
§  Text: 	
  Rosen	
  8.1-­‐8.4	
  
§  Text: 	
  Lehman	
  15,	
  21	
  

2	
  



Recurrence	
  Systems	
  

§  Defini1on:	
  a	
  finite	
  set	
  of	
  ini#al	
  condi#ons,	
  and	
  a	
  
formula	
  (recurrence	
  rela#on)	
  that	
  expresses	
  a	
  
subscripted	
  variable	
  as	
  func1on	
  of	
  lower-­‐indexed	
  
values	
  is	
  a	
  recurrence	
  system.	
  

§  Nota1on:	
  	
  
•  Ini#al	
  condi#ons:	
  	
  	
   	
  	
  a0	
  =	
  c0	
  ,	
  a1	
  =	
  c1	
  ,	
  ...	
  ,	
  ad	
  =	
  cd	
  	
  	
  	
  
•  Recurrence	
  rela#on: 	
   	
  	
  an	
  	
  =	
  f(an-­‐1	
  ,...,a0	
  )	
  	
  

§  We	
  wish	
  to	
  find	
  a	
  solu#on	
  to	
  the	
  system	
  i.e.,	
  a	
  
sequence	
  of	
  values	
  sa1sfying	
  the	
  ini1al	
  condi1ons,	
  
and	
  the	
  recurrence	
  rela1on.	
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Solving	
  Systems	
  (naive	
  approach)	
  

§  Example:	
  
•  Ini#al	
  condi#ons:	
  	
   	
   	
  	
   	
  	
  a0	
  	
  	
  =	
  	
  0	
  	
  
•  Recurrence	
  rela#on: 	
   	
  	
  an	
  	
  =	
  	
  an-­‐1	
  	
  +	
  2n	
  –	
  1	
  
•  Solu#on:	
  	
   	
   	
  	
   	
  	
   	
  <	
  an	
  	
  >	
  	
  =	
  	
  0,	
  1,	
  4,	
  9,	
  16,	
  25	
  	
  

§  Naive	
  approach:	
  
1.  Work	
  out	
  a	
  few	
  simple	
  cases:	
  	
  	
   	
  	
  
	
   	
  a1	
  	
  =	
  	
  a0	
  	
  +	
  2·∙1	
  –	
  1	
  	
  =	
  	
  1	
   	
  	
  
	
   	
  a2	
  	
  =	
  	
  a1	
  	
  +	
  2·∙2	
  –	
  1	
  	
  =	
  	
  4	
  
2.  Spot	
  paKern,	
  guess	
  solu#on: 	
   	
  	
  	
  an	
  	
  =	
  	
  n2	
  	
  
3.  Prove	
  by	
  induc#on 	
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Compound	
  Interest	
  Example	
  

§  Deposit	
  $1	
  to	
  compound	
  at	
  annual	
  rate	
  r:	
  
•  Ini#al	
  condi#ons:	
  	
   	
   	
  	
   	
  	
  a0	
  	
  	
  =	
  	
  1	
  	
  
•  Recurrence	
  rela#on: 	
   	
  	
  an	
  	
  =	
  	
  (1	
  +	
  r)an-­‐1	
  
•  Solu#on:	
  	
   	
   	
  	
   	
  	
  	
  	
  	
  	
  	
  	
  <	
  an	
  	
  >	
  	
  =	
  	
  (1	
  +	
  r)n	
  

§  Naive	
  approach:	
  
1.  Work	
  out	
  a	
  few	
  simple	
  cases:	
  	
  	
   	
  	
  
	
   	
  a1	
  	
  =	
  	
  (1	
  +	
  r) 	
  a2	
  	
  =	
  	
  (1	
  +	
  r)2 	
  a3	
  	
  =	
  	
  (1	
  +	
  r)3 	
  	
  
2.  Spot	
  paKern,	
  guess	
  solu#on: 	
   	
  	
  	
  an	
  	
  =	
  (1	
  +	
  r)n	
  	
  
3.  Prove	
  by	
  induc#on:	
   	
  (base	
  case	
  n	
  =	
  0) 	
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Tower	
  of	
  Hanoi	
  Example	
  

§  What	
  is	
  the	
  minimum	
  number	
  of	
  moves	
  required	
  to	
  
move	
  the	
  stack	
  from	
  one	
  rod	
  to	
  another,	
  where	
  
smaller	
  disks	
  must	
  stay	
  on	
  top	
  of	
  larger	
  disks?	
  
•  Ini#al	
  condi#ons:	
  	
   	
   	
  	
   	
  	
  a0	
  	
  	
  =	
  	
  0	
  	
  
•  Recurrence	
  rela#on: 	
   	
  	
  an	
  	
  =	
  	
  2an-­‐1	
  	
  +	
  	
  1	
  
•  Solu#on:	
  	
   	
   	
  	
   	
  	
  	
  	
  	
  	
  	
  	
  <	
  an	
  	
  >	
  	
  =	
  	
  2n	
  –	
  1	
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Tower	
  of	
  Hanoi	
  (solu1on)	
  

§  Minimum	
  number	
  of	
  moves:	
  
•  Ini#al	
  condi#ons:	
  	
   	
   	
  	
   	
  	
  a0	
  	
  	
  =	
  	
  0	
  	
  
•  Recurrence	
  rela#on: 	
   	
  	
  an	
  	
  =	
  	
  2an-­‐1	
  	
  +	
  	
  1	
  
•  Solu#on:	
  	
   	
   	
  	
   	
  	
  	
  	
  	
  	
  	
  	
  <	
  an	
  	
  >	
  	
  =	
  	
  2n	
  –	
  1	
  

§  Naive	
  approach:	
  
1.  Work	
  out	
  a	
  few	
  simple	
  cases:	
  	
  	
   	
  	
  
	
   	
  a1	
  	
  =	
  	
  1	
  	
   	
  a2	
  	
  =	
  	
  3 	
   	
  a3	
  	
  =	
  	
  7 	
  	
  
2.  Spot	
  paKern,	
  guess	
  solu#on: 	
   	
  	
  	
  an	
  	
  =	
  2n	
  –	
  1	
  
3.  Prove	
  by	
  induc#on:	
   	
  (base	
  case	
  n	
  =	
  0) 	
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Catalan	
  Recursion	
  (example)	
  

§  Coun1ng	
  objects:	
  
•  Ini#al	
  condi#ons:	
  	
   	
   	
  	
   	
  	
  c0	
  	
  	
  =	
  	
  1	
  	
  
•  Recurrence	
  rela#on: 	
   	
  	
   	
  	
  cn	
  	
  =	
  	
  c0cn-­‐1	
  	
  +	
  	
  c1cn-­‐2	
  	
  +	
  ...	
  +	
  cn-­‐1c0	
  	
  
•  Solu#on:	
  	
   	
   	
  	
   	
  	
  

§  Naive	
  approach:	
  
1.  Work	
  out	
  a	
  few	
  simple	
  cases:	
  	
   	
   	
  	
  
	
   	
  c1	
  	
  =	
  	
  c0cn-­‐1	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  1·∙1	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  1 	
  	
  
	
   	
  c2	
  	
  =	
  	
  c0c1	
  +	
  	
  c1c0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  1·∙1	
  +	
  1·∙1	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  2 	
  	
  
	
   	
  c3	
  	
  =	
  	
  c0c2	
  	
  +	
  	
  c1c1	
  +	
  	
  c2c0	
  	
  =	
  	
  1·∙2	
  +	
  1·∙1	
  +	
  2·∙1	
  	
  	
  =	
  	
  5 	
  	
  
	
   	
  c4	
  	
  =	
  	
  ...	
  	
  =	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  1·∙5	
  +	
  1·∙2	
  +	
  2·∙1	
  +	
  5·∙1	
  	
  	
  =	
  	
  14	
   	
  	
  
2.  Spot	
  paKern,	
  guess	
  solu#on?	
   	
  	
  	
  1,	
  1,	
  2,	
  5,	
  14,	
  42,	
  ...	
  
3.  Proof? 	
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Recurrence	
  Types	
  

§  Some	
  recurrence	
  rela1ons	
  (RRs)	
  have	
  specific	
  types	
  
which	
  we	
  can	
  exploit	
  to	
  solve	
  the	
  system	
  	
  

§  Defini1on:	
  a	
  RR	
  has	
  degree	
  k,	
  if	
  the	
  lowest	
  term	
  the	
  
func1on	
  depends	
  on	
  is	
  an-­‐k	
  	
  	
  

§  A	
  RR	
  is	
  linear	
  of	
  degree	
  k	
  if	
  it	
  has	
  the	
  form	
  (b)	
  	
  
§  A	
  RR	
  is	
  homogeneous	
  if	
  g(n)	
  =	
  0	
  
§  Nota1on:	
  	
  

a.  Degree	
  k:	
  	
   	
   	
  	
   	
   	
  an	
  	
  =	
  	
  f(an-­‐1	
  ,...,an-­‐k	
  )	
  
b.  Linear	
  of	
  Degree	
  k: 	
   	
  an	
  	
  =	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  +	
  g(n)	
  	
  

§  Assump1ons:	
  ∀j,  cj	
  is	
  a	
  real	
  func1on,	
  ck	
  ≠	
  0	
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Recurrence	
  Types	
  (examples)	
  

§  Nota1on:	
  	
  
a.  Degree	
  k:	
  	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  an	
  	
  =	
  	
  f(an-­‐1	
  ,...,an-­‐k	
  )	
  
b.  Linear	
  of	
  degree	
  k: 	
  	
  	
  	
  an	
  	
  =	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  +	
  g(n)	
  	
  

1.  Sequence	
  of	
  squares:	
   	
  an	
  	
  =	
  	
  an-­‐1	
  	
  +	
  2n	
  –	
  1	
  
2.  Compound	
  Interest: 	
   	
  an	
  	
  =	
  	
  (1	
  +	
  r)an-­‐1	
  
3.  Tower	
  of	
  Hanoi: 	
   	
  	
   	
  an	
  	
  =	
  	
  2an-­‐1	
  	
  +	
  	
  1	
  
§  {1,3}:	
  “linear	
  of	
  degree	
  1	
  and	
  non-­‐homogeneous”	
  
4.  Catalan	
  numbers:	
   	
  	
   	
  	
  cn	
  	
  =	
  	
  c0cn-­‐1	
  	
  +	
  	
  c1cn-­‐2	
  	
  +	
  ...	
  +	
  cn-­‐1c0	
  	
  
§  “quadra#c,	
  homogeneous	
  and	
  without	
  fixed	
  degree”	
  
5.  Fibonacci	
  numbers: 	
   	
  	
  Fn	
  	
  =	
  	
  Fn-­‐1	
  	
  +	
  	
  Fn-­‐2	
  	
  
§  “linear	
  of	
  degree	
  2	
  and	
  homogeneous”	
  

10	
  



Solving	
  Hom.	
  Linear	
  RRs	
  w.	
  Const.	
  Coeff.	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR,	
  	
  	
  	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  	
  

1.  Assume	
  general	
  solu1on	
  form:	
   	
  	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  rn	
  

2.  Subs1tute	
  into	
  the	
  recurrence: 	
  	
  
	
   	
   	
  	
  rn	
  	
  =	
  	
  c1rn-­‐1	
  	
  +	
  	
  c2rn-­‐2	
  	
  +	
  ...	
  +	
  ckrn-­‐k	
  

3.  Cancel	
  powers	
  and	
  rewrite	
  equa1on:	
  
	
   	
   	
  	
  rk	
  	
  –	
  	
  c1rk-­‐1	
  	
  –	
  	
  c2rk-­‐2	
  	
  –	
  ...	
  –	
  ck	
  	
  =	
  	
  0	
  

4.  Find	
  roots	
  of	
  characteris1c	
  equa1on:	
  
	
   	
   	
  r1	
  	
  	
  r2	
  	
  ...	
  rk	
   	
   	
  	
   	
  	
  	
  

5.  Write	
  the	
  general	
  solu1on:	
  
	
   	
   	
  an	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  	
  +	
  ...	
  +	
  	
  uk(rk)n	
  

6.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  k	
  linear	
  equa1ons	
  with	
  k	
  unknowns	
  
7.  Solve	
  for	
  the	
  unknowns:	
  	
  	
  u1	
  	
  u2	
  	
  ...	
  uk	
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Hom.	
  Linear	
  D1	
  RR	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  a0	
  	
  =	
  	
  d	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  

1.  Assume	
  general	
  solu1on	
  form:	
   	
   	
   	
  an	
  	
  =	
  	
  rn	
  
2.  Subs1tute	
  into	
  the	
  recurrence: 	
   	
   	
  rn	
  	
  =	
  	
  c1rn-­‐1	
  
3.  Cancel	
  powers	
  and	
  rewrite	
  equa1on: 	
  r	
  	
  –	
  	
  c1	
  	
  =	
  	
  0	
  
4.  Find	
  roots	
  of	
  characteris1c	
  equa1on: 	
  r1	
  	
  	
  =	
  	
  c1	
   	
   	
  	
   	
  	
  	
  
5.  Write	
  the	
  general	
  solu1on: 	
   	
  an	
  	
  =	
  	
  u1(r1)n	
  	
  =	
  	
  u1(c1)n	
  
6.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  1	
  equa1on	
  with	
  1	
  unknown:	
  

	
   	
  a0	
  	
  =	
  	
  u1(c1)0 
      →         
d	
  	
  =	
  	
  u1	
  
7.  Solve	
  for	
  the	
  unknowns:	
  	
  	
  an	
  	
  =	
  	
  d(c1)n	
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Compound	
  Interest	
  (general	
  example)	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  a0	
  	
  =	
  	
  C	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  (1+R)an-­‐1	
  	
  

1.  Assume	
  general	
  solu1on	
  form:	
   	
   	
   	
  an	
  	
  =	
  	
  rn	
  
2.  Subs1tute	
  into	
  the	
  recurrence: 	
   	
   	
  rn	
  	
  =	
  	
  c1rn-­‐1	
  
3.  Cancel	
  powers	
  and	
  rewrite	
  equa1on: 	
  r	
  	
  –	
  	
  c1	
  	
  =	
  	
  0	
  
4.  Find	
  roots	
  of	
  characteris1c	
  equa1on: 	
  r1	
  	
  	
  =	
  	
  1+R	
   	
   	
  	
   	
  	
  	
  
5.  Write	
  the	
  general	
  solu1on: 	
   	
  an	
  	
  =	
  	
  u1(r1)n	
  	
  =	
  	
  u1(1+R)n	
  
6.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  1	
  equa1on	
  with	
  1	
  unknown:	
  

	
   	
  a0	
  	
  =	
  	
  u1(1+R)0 
      →         
C	
  	
  =	
  	
  u1	
  
7.  Solve	
  for	
  the	
  unknowns:	
  	
  	
  an	
  	
  =	
  	
  C(1+r)n	
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Hom.	
  Linear	
  D2	
  RR	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  a0	
  	
  =	
  	
  d0 	
  a1	
  	
  =	
  	
  d1	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  

1.  Assume	
  general	
  solu1on	
  form:	
   	
   	
   	
  an	
  	
  =	
  	
  rn	
  
2.  Subs1tute	
  into	
  the	
  recurrence: 	
   	
  	
  	
  	
  	
  	
  	
  	
  rn	
  	
  =	
  	
  c1rn-­‐1	
  	
  +	
  c2rn-­‐2	
  
3.  Cancel	
  powers	
  and	
  rewrite	
  equa1on: 	
  r2	
  	
  -­‐	
  c1r	
  	
  -­‐	
  c2	
  	
  =	
  	
  0	
  
4.  Find	
  roots	
  of	
  characteris1c	
  equa1on: 	
  r1	
  ,	
  r2	
   	
   	
  	
   	
  	
  	
  
5.  Write	
  the	
  general	
  solu1on: 	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  an	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  
6.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  2	
  eqs	
  with	
  2	
  unknowns:	
  

	
   	
  (1)	
  a0	
  	
  =	
  	
  u1(r1)0	
  +	
  	
  u2(r2)0	
  	
  	
    →  	
  	
  u1	
  	
  	
  +	
  	
  u2	
  =	
  d0


 
(2)	
  a1	
  	
  =	
  	
  u1(r1)1	
  +	
  	
  u2(r2)1	
  	
  	
    →  	
  	
  r1u1	
  	
  	
  +	
  	
  r2u2	
  =	
  d1


7.  Solve	
  for	
  the	
  unknowns:	
  

14	
  



Fibonacci	
  Recurrence	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  a0	
  	
  =	
  	
  0 	
   	
  a1	
  	
  =	
  	
  1	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  an-­‐1	
  	
  +	
  	
  an-­‐2	
  	
  

1.  Assume	
  general	
  solu1on	
  form:	
  	
   	
   	
  an	
  	
  =	
  	
  rn	
  
2.  Subs1tute	
  into	
  the	
  recurrence: 	
   	
  	
  	
  	
  	
  	
  	
  	
  rn	
  	
  =	
  	
  rn-­‐1	
  	
  +	
  rn-­‐2	
  
3.  Cancel	
  powers	
  and	
  rewrite	
  equa1on: 	
  r2	
  	
  -­‐	
  r	
  	
  -­‐	
  1	
  	
  =	
  	
  0	
  
4.  Find	
  roots	
  of	
  characteris1c	
  equa1on: 	
  r1,2	
  	
  =	
  (1±√5)/2	
   	
   	
  	
   	
  	
  	
  
5.  Write	
  the	
  general	
  solu1on:	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  an	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  
6.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  2	
  eqs	
  with	
  2	
  unknowns:	
  

	
   	
  (1)	
  a0	
  	
  =	
  	
  u1(r1)0	
  +	
  	
  u2(r2)0	
  	
  	
    →  	
  	
  u1	
  	
  	
  +	
  	
  u2	
  	
  =	
  	
  0


 
(2)	
  a1	
  	
  =	
  	
  u1(r1)1	
  +	
  	
  u2(r2)1	
  	
  	
    →  	
  	
  r1u1	
  	
  	
  +	
  	
  r2u2	
  	
  =	
  	
  1


7.  Solve	
  for	
  the	
  unknowns:	
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Fibonacci	
  Recurrence	
  (solu1on)	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  a0	
  	
  =	
  	
  0	
   	
  a1	
  	
  =	
  	
  1 	
   	
   	
  an	
  	
  =	
  	
  an-­‐1	
  	
  +	
  	
  an-­‐2	
  	
  

4.  Find	
  roots: 	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  r1,2	
  	
  =	
  	
  (1±√5)/2	
  	
  	
  	
  
5.  General	
  solu1on: 	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  an	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  
6.  System	
  with	
  2	
  unknowns:	
  

	
   	
  (1)	
  u1	
  	
  	
  =	
  	
  -­‐u2	
  


 
(2)	
  r1u1	
  	
  	
  +	
  	
  r2u2	
  	
  =	
  	
  1      →  	
  	
  	
  (1+√5)u1	
  	
  	
  -­‐	
  	
  	
  (1-­‐√5)u1	
  	
  =	
  	
  2


7.  Solve	
  for	
  the	
  unknowns:	
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Hom.	
  Linear	
  D3	
  RR	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  a0	
  	
  =	
  	
  d0 	
  a1	
  	
  =	
  	
  d1 	
  a2	
  	
  =	
  	
  d2	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  	
  c3an-­‐3	
  	
  

1.  General	
  form:	
   	
   	
   	
  an	
  	
  =	
  	
  rn	
  
2.  Subs1tute: 	
   	
  	
  	
  	
  	
  	
  	
  	
   	
  rn	
  	
  =	
  	
  c1rn-­‐1	
  	
  +	
  c2rn-­‐2	
  +	
  c3rn-­‐3	
  
3.  Cancel	
  powers: 	
   	
   	
  r3	
  	
  -­‐	
  c1r2	
  	
  -­‐	
  c2r	
  	
  -­‐	
  c3	
  	
  =	
  	
  0	
  
4.  Find	
  roots: 	
   	
   	
   	
  r1	
  ,	
  r2	
  ,	
  r3	
  	
  	
   	
   	
  	
   	
  	
  	
  
5.  General	
  solu1on: 	
   	
  	
  	
  	
  	
  an	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  +	
  	
  u3(r3)n	
  
6.  Solve	
  system	
  with	
  3	
  unknowns:	
  

	
   	
  (1)	
  	
  	
  	
  	
  	
  	
  	
  u1	
  	
  	
  +	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  u2	
  	
  	
  +	
  	
  	
  	
  	
  	
  	
  	
  	
  u3	
  	
  	
  	
  =	
  	
  d0	
  

 
(2)	
  	
  	
  	
  	
  r1u1	
  	
  	
  +	
  	
  	
  	
  	
  	
  	
  r2u2	
  	
  +	
  	
  	
  	
  	
  	
  r3u3	
  	
  	
  =	
  	
  d1


 
(2)	
  (r1)2u1	
  	
  	
  +	
  	
  (r2)2u2	
  	
  +	
  	
  (r3)2u3	
  	
  	
  =	
  	
  d2
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Solving	
  Non-­‐Hom.	
  Linear	
  RRs	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  +	
  g(n)	
  

	
  
1.  Set	
  g(n)	
  =	
  0,	
  obtain	
  “homogeneous	
  solu1on”	
  from	
  the	
  

associated	
  hom.	
  linear	
  rela1on: 	
  	
  
	
  	
  	
  	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  	
  	
  	
  	
  →        an(H)	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  	
  +	
  ...	
  +	
  	
  uk(rk)n	
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Solving	
  Non-­‐Hom.	
  Linear	
  RRs	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR,	
  	
  	
  	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  +	
  g(n)	
  

1.  Set	
  g(n)	
  =	
  0,	
  obtain	
  “hom.	
  solu1on”	
  from	
  the	
  hom.	
  linear	
  RR: 	
  	
  
	
  	
  	
  	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  	
  →        an(H)	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  	
  +	
  ...	
  +	
  	
  uk(rk)n	
  

2.  Ignore	
  ini1al	
  condi1ons	
  and	
  find	
  “par1cular	
  solu1on”	
  with	
  
the	
  same	
  form	
  as	
  term	
  g(n): 	
   	
   	
  an(P)	
  =	
  	
  f(n)	
  
Ø  If	
  g(n)	
  is	
  a	
  polynomial,	
  “guess”	
  polynomials	
  of	
  ≥	
  degree	
  
Ø  If	
  g(n)	
  is	
  exponen1al,	
  “guess”	
  exponen1als	
  	
  (mul1plied	
  by	
  n)	
  
Ø  Subs1tute	
  into	
  recurrence	
  and	
  find	
  coefficients	
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Solving	
  Non-­‐Hom.	
  Linear	
  RRs	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR,	
  	
  	
  	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  +	
  g(n)	
  

1.  Set	
  g(n)	
  =	
  0,	
  obtain	
  “hom.	
  solu1on”	
  from	
  the	
  hom.	
  linear	
  RR: 	
  	
  
	
  	
  	
  	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  +	
  ...	
  +	
  ckan-­‐k	
  	
  	
  →        an(H)	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  	
  +	
  ...	
  +	
  	
  uk(rk)n	
  
2.  Ignore	
  ini1al	
  condi1ons	
  and	
  find	
  “par1cular	
  solu1on”	
  with	
  the	
  same	
  

form	
  as	
  term	
  g(n): 	
   	
   	
  an(P)	
  =	
  	
  f(n)	
  
Ø  If	
  g(n)	
  is	
  a	
  polynomial,	
  “guess”	
  polynomials	
  of	
  equal	
  or	
  higher	
  degree	
  
Ø  If	
  g(n)	
  is	
  exponen1al,	
  “guess”	
  exponen1als	
  	
  (mul1plied	
  by	
  n)	
  
Ø  Subs1tute	
  into	
  recurrence	
  and	
  find	
  coefficients	
  

4.  Add	
  par1cular	
  +	
  hom.	
  solu1ons	
  together	
  to	
  get	
  general	
  solu1on:	
  
	
   	
   	
    an(G)	
  	
  =	
    an(H)	
  +	
    an(P)	
   	
   	
  	
   	
  	
  	
  

5.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  k	
  linear	
  equa1on	
  with	
  k	
  unknowns	
  
6.  Solve	
  for	
  the	
  unknowns:	
  	
  	
  u1	
  	
  u2	
  	
  ...	
  uk	
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Tower	
  of	
  Hanoi	
  (general	
  approach)	
  	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
  	
  	
   	
   	
   	
  a0	
  	
  =	
  	
  0 	
   	
  	
  an	
  	
  =	
  	
  2an-­‐1	
  	
  +	
  	
  1	
  

1.  Set	
  g(n)	
  =	
  0,	
  obtain	
  “hom.	
  solu1on”	
  from	
  the	
  hom.	
  linear	
  RR: 	
  	
  
	
  	
  	
  	
  	
   	
   	
   	
   	
  an	
  	
  =	
  	
  2an-­‐1	
  	
  	
  	
  →        an(H)	
  	
  =	
  	
  u1(r1)n	
  	
  =	
  	
  u12n	
  	
  
2.  Find	
  “par1cular	
  solu1on”	
  with	
  the	
  same	
  form	
  as	
  term	
  g(n):	
  

	
   	
   	
   	
  an(P)	
  =	
  	
  f(n)	
  =	
  K 	
  →          K	
  	
  =	
  	
  2K	
  	
  +	
  	
  1 	
  	
  	
  →      K	
  =	
  -­‐1	
  
4.  Add	
  par1cular	
  +	
  hom.	
  solu1ons	
  together	
  to	
  get	
  general	
  solu1on:	
  

	
   	
   	
     
an(G)	
  	
  =	
    an(H)	
  +	
    an(P)	
  	
  =	
  	
  u12n	
  –	
  	
  1 	
  	
   	
  	
  	
  
5.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  1	
  linear	
  eq	
  with	
  1	
  unknown:	
  

	
   	
   	
   	
  (1)	
  a0	
  	
  =	
  	
  u1(2)0	
  	
  –	
  1	
  	
  	
    →  	
  	
  u1	
  	
  =	
  	
  1
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Non-­‐Hom.	
  Linear	
  RRs	
  (example)	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
  	
  	
   	
   	
   	
  a1	
  	
  =	
  	
  3 	
   	
  	
  an	
  	
  =	
  	
  3an-­‐1	
  	
  +	
  	
  2n	
  

1.  Set	
  g(n)	
  =	
  0,	
  obtain	
  “hom.	
  solu1on”	
  from	
  the	
  hom.	
  linear	
  RR: 	
  	
  
	
  	
  	
  	
  	
   	
   	
   	
   	
  an	
  	
  =	
  	
  3an-­‐1	
  	
  	
  	
  →        an(H)	
  	
  =	
  	
  u1(r1)n	
  	
  =	
  	
  u13n	
  	
  
2.  Find	
  “par1cular	
  solu1on”	
  with	
  the	
  same	
  form	
  as	
  term	
  g(n):	
  

	
   	
  an(P)	
  =	
  	
  f(n)	
  =	
  cn	
  +	
  d 	
  →      cn	
  +	
  d	
  	
  =	
  	
  3[c(n-­‐1)+d]	
  	
  +	
  	
  2n 	
  	
  	
  	
  

                            →      0	
  =	
  (2c+2)n	
  +	
  (2d-­‐3c)	
  →      c	
  =	
  -­‐1	
   	
  d	
  =	
  -­‐3/2	
  

4.  Add	
  par1cular	
  +	
  hom.	
  solu1ons	
  together	
  to	
  get	
  general	
  solu1on:	
  
	
   	
   	
     
an(G)	
  	
  =	
    an(H)	
  +	
    an(P)	
  	
  =	
  	
  u13n	
  	
  –	
  	
  n	
  	
  –	
  	
  3/2	
   	
  	
  	
  

5.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  1	
  linear	
  eq	
  with	
  1	
  unknown:	
  
	
   	
   	
   	
  (1)	
  a1	
  	
  =	
  	
  u1(3)1	
  	
  –	
  	
  1	
  	
  –	
  	
  3/2	
   	
  	
  →  	
  	
  u1	
  	
  =	
  	
  11/6
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Repeated	
  Roots	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  a0	
  	
  =	
  	
  d0 	
  a1	
  	
  =	
  	
  d1	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  

1.  Assume	
  general	
  solu1on	
  form:	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  an	
  	
  =	
  	
  rn	
  
2.  Subs1tute	
  into	
  the	
  recurrence: 	
   	
  	
  	
  rn	
  	
  =	
  	
  c1rn-­‐1	
  	
  +	
  c2rn-­‐2	
  
3.  Cancel	
  powers	
  and	
  rewrite	
  equa1on:	
  	
  	
  r2	
  	
  -­‐	
  c1r	
  	
  -­‐	
  c2	
  	
  =	
  	
  0	
  
4.  Find	
  roots	
  of	
  characteris1c	
  equa1on:	
   	
  r1	
  ,	
  r2	
  	
  
What	
  if	
  	
  r1	
  	
  =	
  r2	
  ?	
  	
  We	
  need	
  approach	
  for	
  repeated	
  roots	
  as	
  
general	
  solu1on	
  [an	
  	
  =	
  	
  u1(r1)n	
  	
  +	
  	
  u2(r2)n	
  ]	
  should	
  be	
  different	
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Repeated	
  Roots	
  Approach	
  

§  Given:	
  ini1al	
  condi1ons	
  and	
  RR, 	
  	
  	
  	
  
	
   	
   	
  	
  a0	
  	
  =	
  	
  d0 	
  a1	
  	
  =	
  	
  d1	
  
	
   	
   	
  	
  an	
  	
  =	
  	
  c1an-­‐1	
  	
  +	
  	
  c2an-­‐2	
  	
  

1.  Assume	
  general	
  solu1on	
  form:	
   	
   	
   	
  an	
  	
  =	
  	
  rn	
  
2.  Subs1tute	
  into	
  the	
  recurrence: 	
   	
  	
  	
  	
  	
  	
  	
  	
  rn	
  	
  =	
  	
  c1rn-­‐1	
  	
  +	
  c2rn-­‐2	
  
3.  Cancel	
  powers	
  and	
  rewrite	
  equa1on: 	
  r2	
  	
  -­‐	
  c1r	
  	
  -­‐	
  c2	
  	
  =	
  	
  0	
  
4.  Find	
  roots	
  of	
  characteris1c	
  equa1on: 	
  R	
  (repeated) 	
  	
  	
  
5.  Write	
  the	
  general	
  solu1on: 	
   	
  	
  	
  	
  	
  	
  	
  an	
  	
  =	
  	
  u1(R)n	
  	
  +	
  	
  u2n(R)n	
  
6.  Use	
  ini1al	
  condi1ons	
  to	
  obtain	
  2	
  eqs	
  with	
  2	
  unknowns:	
  

	
   	
  (1)	
  a0	
  	
  =	
  	
  u1(R)0	
  +	
  	
  0∙u2(R)0	
  	
  	
    →  	
  	
  u1	
  	
  =	
  d0


 
(2)	
  a1	
  	
  =	
  	
  u1(R)1	
  +	
  	
  1∙u2(R)1	
  	
  	
    →  	
  	
  Ru1	
  	
  	
  +	
  	
  Ru2	
  =	
  d1


7.  Solve	
  for	
  the	
  unknowns:	
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Divide-­‐and-­‐Conquer	
  RRs	
  

§  Defini1on:	
  a	
  divide-­‐and-­‐conquer	
  recurrence	
  has	
  the	
  
following	
  form	
  (where	
  b	
  is	
  a	
  posi1ve	
  integer):	
  
•  Base	
  case:	
  	
  	
   	
  	
  	
  	
  	
  	
  	
  	
   	
   	
  	
  a0	
  	
  	
  =	
  	
  c0	
  	
  
•  Recurrence	
  rela#on: 	
   	
  	
  an	
  	
  =	
  f(n)	
  =	
  C	
  f(n	
  /	
  b)	
  +	
  g(n)	
  	
  	
  	
  

§  Examples:	
  
•  Binary	
  search:	
   	
  C	
  =	
  1,	
  b	
  =	
  2,	
  g(n)	
  	
  =	
  	
  c	
  
•  Mergesort:	
  	
   	
  C	
  =	
  2,	
  b	
  =	
  2,	
  g(n)	
  	
  =	
  	
  n	
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Genera1ng	
  Func1ons	
  

§  Defini1on:	
  an	
  (ordinary)	
  genera#ng	
  func#on	
  for	
  a	
  
sequence	
  a0	
  ,	
  a1	
  ,	
  ...	
  is	
  a	
  func1on	
  whose	
  formal	
  power	
  
series	
  has	
  a	
  matching	
  sequence	
  of	
  coefficients	
  	
  

§  Example	
  1:	
  
•  <	
  an	
  >	
  	
  =	
  1,1,1,1,...	
   	
  	
  
•  Genera#ng	
  func#on	
  (GF): 	
  	
  

§  Example	
  2:	
  
•  <	
  an	
  >	
  	
  =	
  1,2,4,8,...	
   	
  	
  
•  GF: 	
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1
1− x

=1+ x + x2 +... = x j
j=0

∞

∑

1
1− 2x

=1+ 2x + 4x2 +... = 2 j x j
j=0

∞

∑



Construc1ng	
  Genera1ng	
  Func1ons	
  

§  Given	
  a	
  sequence,	
  how	
  do	
  we	
  construct	
  the	
  
genera1ng	
  func1on?	
  

	
  
§  Example	
  1:	
  
•  <	
  an	
  >	
  	
  =	
  0,1,3,7,15,...	
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f (x) = ajx
j

j=0

∞

∑ g(x) = bjx
j

j=0

∞

∑

( f + g)(x) = f (x)+ g(x) = (aj + bj )x
j

j=0

∞

∑

1
1− 2x

= 2 j x j
j=0

∞

∑ −1
1− x

= (−1)x j
j=0

∞

∑

GF(x) = 1
1− 2x

−
1
1− x

=
x

(1− x)(1− 2x)


